

Suleiman fauzia sani
 15/ENG/01/017
 Chemical engineering
 Assignment 5

Solution Fuzia dan
 Iskandar
 chemical engineering

1. $\frac{dy}{dx} + 2y = e^{-2x}$
 $y(0) = 1$
 $y(x) = \frac{1}{e^{2x}} + \frac{1}{2}e^{-2x}$

2. $\frac{dy}{dx} + 2y = e^{-2x}$
 $y(0) = 1$
 $y(x) = \frac{1}{e^{2x}} + \frac{1}{2}e^{-2x}$

3. $\frac{dy}{dx} + 2y = e^{-2x}$
 $y(0) = 1$
 $y(x) = \frac{1}{e^{2x}} + \frac{1}{2}e^{-2x}$

4. $\frac{dy}{dx} + 2y = e^{-2x}$
 $y(0) = 1$
 $y(x) = \frac{1}{e^{2x}} + \frac{1}{2}e^{-2x}$

1. $\frac{dy}{dx} + 2y = e^{-2x}$
 $y(0) = 1$
 $y(x) = \frac{1}{e^{2x}} + \frac{1}{2}e^{-2x}$

2. $\frac{dy}{dx} + 2y = e^{-2x}$
 $y(0) = 1$
 $y(x) = \frac{1}{e^{2x}} + \frac{1}{2}e^{-2x}$

3. $\frac{dy}{dx} + 2y = e^{-2x}$
 $y(0) = 1$
 $y(x) = \frac{1}{e^{2x}} + \frac{1}{2}e^{-2x}$

4. $\frac{dy}{dx} + 2y = e^{-2x}$
 $y(0) = 1$
 $y(x) = \frac{1}{e^{2x}} + \frac{1}{2}e^{-2x}$

1. $\frac{dy}{dx} + 2y = e^{-2x}$
 $y(0) = 1$
 $y(x) = \frac{1}{e^{2x}} + \frac{1}{2}e^{-2x}$

2. $\frac{dy}{dx} + 2y = e^{-2x}$
 $y(0) = 1$
 $y(x) = \frac{1}{e^{2x}} + \frac{1}{2}e^{-2x}$

3. $\frac{dy}{dx} + 2y = e^{-2x}$
 $y(0) = 1$
 $y(x) = \frac{1}{e^{2x}} + \frac{1}{2}e^{-2x}$

4. $\frac{dy}{dx} + 2y = e^{-2x}$
 $y(0) = 1$
 $y(x) = \frac{1}{e^{2x}} + \frac{1}{2}e^{-2x}$